fmmm AT B S AN EX

BE: 1F, lRCER: FS1, fZE: P001-1 [B:29,Y2:350]; R I [BRA#%]:650.00 * 358.25 cm ;[#RL#7]:700.00 * 408.25 cm;
WRIE: 50 cm
#5 EEFA SN RE LE= ((RI8(RO)]+[#E-E#]78*1)*(Round(358.25/10)+1)/100= 287.86 M
#5 EER SN EMN LE-80= (R +[#EE-EM]78*2)*(Round(650/10)+1)/100= 372.41 M
#5 EEESANRE T B= ((RI8(1RO)]+[#EE-E #]60*1)*(Round(358.25/20)+1)/100= 144.40 M
#5 ff%% XIE T E-8 A= ([JF18 () +[#5 - #]60*2)*(Round(650/20)+1)/100= 174.32 M
I :
#IT (AR BH)EXRE(—MAMR): 10*2+(50-6)*2+10 =118.00 cm
EBE@EPER: Int(650/100)= 6 1T
K E @ HEE: Int(358.25/100)= 3 %
TEfHMAR: 118.00%6*3/100= 21.24 M
#3KR R 4G i T2 18 THEST (R IRE A9 ARt A):
RE#EK: 408.25%(ceiling(650.00/200)+1)= 2041.25 cm
B @ # K 700.00%(ceiling(358.25/200)+1)= 2100.00 cm
*gmi_+§)ﬂi5ﬁﬁmliﬁl1’ﬁmﬁﬁz (2041.25+2100.00)/100= 41.41 M
BIREE: (RERRTFEE)=0 M2
hRi# R HIEETE:
(A F hR 58 08 £142)=0.00 M2
HE KR /)N E1:0.00-[AR 58 £110.00+[AR B3 1 $1810.00-[ A % 32 #10.00=0.00 M2
_Eﬁ;ﬂtﬂeﬁﬁu&,ﬁu*ﬁﬁ%ﬂéﬁffﬁﬁﬁw&ﬁﬁ%
RCEH&:
650.0*358.3/ 10000 *50/100= 11.643 M3
RC/M&t:11.643-[ix B3 O RC]0.000=11.643 M3
BEERGTE:
+/- SRHH:
#5 : ((50-5*2+2*4.5)*(650/60*358/60))/100= 31.67 M
wmoemmmeee BT B RE RN F e
SR T B AL R ({CB O EL 31 BR4%): (MRB8 O Lk 451:0.00)
#3=62.65 M*(1-0.0000)=62.65 M (62.65 M*0.560/1000= 0.0351 T)
#5=1,010.66 M*(1-0.0000)=1,010.66 M (1,010.66 M*1.560/1000= 1.5766 T)
W/ DEH(EEH+HAREH) =1.612T
BHR/NET = 0.00 M2
BRIt = 11.643 M3
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